Montageanleltung Hawa mln 16 H FS 2-bahnig | 2 tracks | 2 voies

Mounting instructions
Instructions de montage

Garnituren / Sets /Garnitures

10 mm No. 053.3373.071 2Biiren 1" No. 053.3374.071 3|T3Uren " No. 053.3375.071
oors 'oors
19 mm No. 053.3373.072 Portes 19nmNo, 053.3374.072 Portes lInm No, 053.3375.072

Fir zusétzliches Démpfen in
Offnungsrichtung 1 x bestellen.
Order 1x for additional soft closing function
in opening direction

Commander 1x pour un amortissement
supplémentaire dans le sens de |'ouverture.

2\
¥
Ve a
N
X

N
X

® ¢
-
y

@ 5
2
v

x

Einbau Muffe/Sleeve mounting/Montage de manchon

8 8

I X 2 -l

8.5

< max. 800mm »
< max. 1400 mm »

Zubehor / Accessories /Accessoires Gr./Size Art. No.

Doppellaufschiene, Alu eloxiert, gelocht, zum Schrauben 2500 mm 053.3339.250
Double running track, aluminium anodized, pre-drilled, for screw fixing 3500 mm 053.3339.350
Rail de roulement double, en alu anodisé, perforé, a visser 6000 mm 053.3339.600

Doppelfihrungsschiene, Alu eloxiert, gelocht, zum Schrauben 2200 mm 053.3261.220

Double guide track, aluminium anodized, pre-drilled, for screw fixing 2400 mm 053.3261.240
Rail de guidage double, alu anodisé, perforé, a visser 4800 mm 053.3261.480
29x15 mm
Abdeckprofil, Alu eloxiert, oben/unten** 2500 mm 056.3122.250
Cover profile, aluminium anodized, top/bottom™** 6000 mm 056.3122.600
Profil de recouvrement, en alu anodisé, haut/bas** 44510

** 2 mm Doppelklebeband verwenden /Use 2 mm double-sided adhesive tape / Utiliser un 2 mm ruban adhésif & double face

Hawa Sliding Solutions AG, Untere Fischbachstrasse 4, 8932 Mettmenstetten, Switzerland
Tel. +41 (0)44 787 17 17, Fax +41 (0)44 787 17 18, info@hawa.com, www.hawa.com

01| 2015 | 788.2000.282 1/8



Hawa mn 16 H FS 2-bahnig | 2 tracks | 2 voies

40

67

) Werkzeug | Tool | Outil

©pPz: 2
©sw: 3
@TX: 10
S No.:~
{CSW: -

Schienenreiniger
Track cleaner
Nettoyant pour rails

. 040.3142.071
Optional

Optional 2 X
Optionnel

www.eku. cfy

B

min. 260

Dampfen in Schliessrichtung
Soft closing function in closing direction min. 260
Amortissement dans le sens de fermeture

0112015 | 788.2000.282 2/8



Optional B

Option
Optionnel

min. 460

Hawa mn 16 H FS 2-bahnig | 2 tracks | 2 voies

Bestellen / Order
/ Commander

Dampfen in Schliess- und Offnungsrichtung
Soft closing function in closing and opening direction
Amortissement dans le sens de fermeture et d'ouverture

min. 460

10 mm =-10 kg
053.3373.071

Dampfen in Schliess- und Offnungsrichtung
Soft closing function in closing and opening direction
Amortissement dans le sens de fermeture et d'ouverture

min. 460

19 mm =-16 kg
053.3373.072

17 235x16

TDP3.5x16

15

01| 2015 | 788.2000.282 3/8



Hawa mn 16 H FS 2-bahnig | 2 tracks | 2 voies

E Tiire | Door | Porte

2 \N\
»
)
»,
1Y
x
©

33°

[s KIM s

N

oy
AN
|

37+S 8 2

Tiren
Doors 10 mm \
Portes

8
To)
S @ é)\\
1
@ PZNo. 2
M4 x 8
o)
o > s ?
1
8
Kleben
Glue fixing NS .
Coller
~Jo
S
@ 0 @ Einschlagen
) © 9 Drive into
@ Planter 19 mm

@ PZNo. 2

1 h trocknen T @4x16

1 h to cure

1 h sécher 10 mm
€ PZ No. 2
7 M4 x 8

01| 2015 | 788.2000.282 4/8



EEEEEEE




Hawa mn 16 H FS 2-bahnig | 2 tracks | 2 voies

\,

A




m 3 Tiren

3 Doors
3 Portes

of

~0 ot

~A\OQ

a2
«~0 o1 2
Optional Art. No. 055.3130.
Optional
Optionnel
[al] Qi:
! <A
f’
'Ile \%‘
\‘/
9

10
e

€HPZ No.2
TM4 x 10

19mm
€HPZ No.2
B 4x16

m Tirdemontage
Door dismounting

Demontage de la porte

9 Offnen

Opening
Ouvrir

0112015 | 788.2000.282 7/8



Einbaubeispiele/Mounting examples/Exemples de montage

Hawa mn 16 H FS 2-bahnig | 2 tracks | 2 voies

54 10 36
235x16 @3,5x16 19
o‘ o¥
A = =] \
5 KM 5 g[ { g[
T8 1 8= KAM2+ 16 H
mé '\t [ N g g
I ‘ P2 " ) +2 ¥ +2
e ‘ I : -1 ‘ -1
T8 2|
M4 x 10
. m s DA4x16 (Muffe/Sleeve/Manchon .
1S
67 \ 67 | £
| o
ﬁl " M4 x 10 (Muffe/Sleeve/Manchon) 2
\ I Q = 5
3745 | B 2| + N E
> o
KAM T :ﬁ T - I
3 KIM S T +
= ~ 28x8,5 T
2 1] —|_ TB=KAM3+ 6 gy 18 2 = T
g =l
! i
M4 x 10
B (Muffe/Sleeve/Manchon)
@35x16 14_23
o
2
SR
3 Qloft 1
: o 2f —
E < 29 |15
£ 13 |
| 44
I
KIM
S Schienenlange/Track lenght/Longueur du rail = KIM - 1 S

T ~ [}
| |
| |

33+S

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

1
P

1

I

_
22

22 11

10mm@ 8 x 8,5
19mm @3 x3

32

10mm @ 8 x 8,5
19mm@3 x3

9)

/
|
1
t
|

w
(2]
+
(7]
1] |

0112015 | 788.2000.282 8/8



